Tadmumma 2
[[epeuers IUIPOXOIEYECKEN CTARNNE, BHIOMHEHHEY
B 3 peice.
- TIyQ. HEET B
CTAHIILI  [IpOTE JZonToTa CTEHIER nposp. IIpHueyzgde
T A 3 4 1] 3

1/3 59%50c . %33, 1, 23 = Tapepo-leTnais
2/l 5852 Q& 57 130 - cﬂﬁﬂ'paapﬂui =
3/5 59 58 05 I3 410 =
4/B &0 08 05 24 740 -
5/7 60 06 05 32 &00 -

aﬂﬂ 50 0% 05 39 930 =
7/3 60 II 05 48" II00 -
8/10 60 I4,;5 05 45,5 810 =
_aﬁgr 60 I7,2 05 59 650 -
10/I2 60 22 06 TI;5 £70 =
LI§13 60 27 06 25,2 ol -
IEI%Q 60 db Q5 44 220 -
13/15 60 42,5 07 02,7 G40 N BT
14 /16 B0 48,7 07 I8,7 885 =
I5/I7 60 53,5 Q% 3I 870 FoRIN
16/16° 60 49 07 I8 790 9, 0-I¥
I?i%ﬁ 60 03;0 Q7 02;0 550 6,0-L¥
18/14 60 85;5 06 45,0 230 7,0=1J
19§;5 GO 26,8 5 2520 240 10,0-I¥
20/12 B0 22,0 06 II,5 450 &,0=-I¥
2T /11 60 18,5 05 58,0 650 7,0-I¥
22/10 60 I5,0 05 55,0 730 6,0-F
25/3 B0 IL;0 05 45,5 IIC0 -

R4 /8 GO 09;0 05 39;0 975 —
25/7 B0 05,0 05 82,0 800 =
26/6 60 04;0 05 26,0 640 T
27/5 59 58,3 05 13,3 307 6,0-I¥
26/4 59 51,5 04 57,7 150 5,0-L¥
29/3 59 48,2 04 49;8 108 6,0-IT
80/4 59 50,0 04 58,0 155 4,5-17
3L/5 51587 05 13,0 400 5,8-17
32/6 60 04;0 05 24,0 750 5:0=IF
33/7 60 08,0 05 22,0 930 7, 0-17
84/ 60 08;7 05 32,0 1000 4,0-L7
35/9 60 II;0 D5 45:5 1035 5, 0=L¥
86/10 60 I4,6 05 54,0 200 5, 0=l
37/11 50 I6,8 05 57;0 540 -
a8/12 50 22,0 05 12,0 470 -
39/15 60 27,0 08 24,0 S20 -
40,14 60 32;0 06 89;0 530 6,4=1¥
A1/15 60 4255 07 02,7 B840 P 5T
L2YTH 60 48,7 g7 12,5 850 8,0-1Y
48/17 60 58,6 07 81,0 875 7 I-1Y
A4 /18 &0 49;0 07 I8;0 230 5, 0—1F
45/15 60 42,0 Q7 03,0 590 7,0-1F
A6/T4 50 84,7 06 4474 355 6,0-1¥
47/13 80 26,5 06 22.2 295 g, 0-17
46/ 60 22,0 06 I2,0 465 7, 0-I7
A9/1T 60 I7,0 05 58,0 G2 -
50/10 60 I5;0 05 54,0 %60 =
5I/9 60 10,1 05 34;2 I130 5,2 <I7,¥
52 /8 60 08,8 05 39,2 IG30 5,0 ~IF



- 3 4 D B
05,0 05°32;0 930 4, 3-I7
08,0 05,245 760 4,0-T¥
08,9 05 10,5 480 -
5I,5 04 BBIC 155 5; D=1

22 45,0 0t 42,0 100 6, e—17

) BES 4 58,0 I55 4,6-17

g 58,0 05 182 440 5,0=IF
03,0 05 22,0 750 4 0=-I¥
06,0 G5 31,0 240 2, 0-1F
08,7 05 39,0 I0I0 6, 0=-I¥
1I,0 05 45,5 II00 5,0-F
4,5 05 54.0 890 6,0-I7
I6:8 03 59,0 650 -
R 06 IZ2,0 480 -
s 06 28,0 3SI0 -
34,8 05 4435 300 6;8-IF-
42,5 07 0237 E40 B, 2-17,¥
4870 07 190 830 6;2=1Y
23,6 07 81,0 875 6, 0-I¥F
Q0,0 20 C0,0 3125 " -
03,4 30 02,0 2e00 2a,0-11
40,0 30 00.0 3200 =
00,0 30 00,0 4500 30,0-T
20,0 30 Q00 ABO0 R
40,0 30 00,0 5300 38,0-I
0C;0 30 0050 5500 -
20,0 30 00,0 5500 24 ;0-I1

<4050 30 00,0 5600 2I1,0-I
Co,0 a0 00,0 4650 i
20,0 30 00,0 4500 22,0-1,IT
40,0 30 00,0 4500 ST
00,0 30 00,0 56C0 Ry 0=IT
20,0 30 00;0 S800 -

. 40,0 30 0030 5800 23,0-II
00,0 30 00,0 3000 -
20,0 30 00,0 A400 30;0-1I1
40;0 30 00,0 4T00 22011
eC,0 30 00,0 3000 2l
20;0 30 00,C 5600 I8,0=IT
40,0 30 Q050 3200 e
00,0 30 00,0 3000 I4,0-IIT
40,0 30 00,0 4800 T
20;0 30 00,0 4700 I8;6-I11
4050 30 00,0 5050 14,0-I11
40,0 20 00,0 5000 I7,0=I1II
20,0 30 0050 5400 =
00,0, 30 0G,0 5200 17,0-11

5 4750 20 38,0 2040 12,0-1¥ 06 cepuii ovid
59,0 IT 40,0 2740 - of cepdll crlD



